(@ Ny, /dndeC

Ratio to ATLAS

w

N
&

1.5

0.5

0.5

900 GeV p
[T I | I I I |

~ B ATLAS

oot

m&EEEEHﬁﬁi
g Voo ¥ w_. _W...
,.y-Jv-Jv¥—V~r"'__"'x_....._x..----F

--0-- Herwig++ 2.5.0 default

— --id-- Herwig 7.2.1 default

— —— Pythia 8.308 default

--¥-- Pythia 8.308 vincia-default
I ¢ Sherpa 2.2.9 default

B <N_>vs p'TeaOI (Nl <25, p_>0.1GeV) _

g BB B g

Underlying Event

mcplots.cern.ch [arXiv:1306.3436]

- ® ]
| @\ II"'\\ _
e : 2 ]
[ ®9000eey0 Q \ _
'E’q'iﬁfﬂ{ﬂﬁﬂm[ﬂ@ “H. —
YYoy y B omE o g e |
’ Y \Y\ —-'~ . / N % :
C TSN S § 7
1 1 | 1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |

2 4 5] 8 10

P, (leading track) [GeV]

Rivet 3.1.10, = 500k events

N

0.5



	Contents
	Page 1


